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FRYE V=40. 8+20. 7+0. 9 x 2=63. 3m3

HERE V=19.2+9.9+0.3x2=29. Tm3 XEzfAt

5%t V=63.3-29. 7=33. 6m3
PU3-250 L=80m
PU3-300 L=34m
PU3-2502 N=80 x 2=160#%
PU3-3002 N=34 x 2=68%%

SKBE N=2ZE (av5Y-+ V=0.20m3. B4 A=2.31m2)
MUY L=80+34+0.9x 2=115. 8m
EHZEMRAE R A=80x 0. 76+34 x 0. 82+0. 9 x 1. 10 x 2=90. Tm2

FEHE V=90. 7x 0. 05=4. 5m3
AszgAnsyr W=4.5x2.35=10. 6t

BRAET A=(80+34+0.9x2) x0. 3=34. Tm2
FET A=(80+34+0.9x2) x0.3=34. Tm2

PU3-250A L=80m
Bl | | ERAAIE250
R 2| % =
PRYE 0.51m2
HER 0.24m2

ERE 0. 51 x 80=40. 8m3
R 0.24%x80=19. 2m3

PU3-300A L=34m
Bl A EERAEIE300A
X Ll =
PRYE 0.61m2
HR 0.29m2

BRI 0. 61 x 34=20. Tm3
HE 0.29 x 34=9. 9m3

Al =R £k

X % | % £
R 1. 03 m2
#HE 0. 36 m2

BRE 1.03x0. 9=0. 9m3
H#E 0.36x%0.9=0. 3m3
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